STAR

IN—FDIV=ZFI T 1 —45
%

B &
HEHa—F 75116
B TVM1000
Mook 75111

M X TVM1200

[%BE:’: TEXDERE. M\?‘%:ﬁ:ﬂiﬁ’éiﬁ%(f:’ébq

A I~ =R\ =1l






RO TEXICONT

HIESBRDBESERICDNT

1.

e TIEXOMIE. TiLRBEZ TEESIEE Y,

OH& B
Q% R
Q@ HRBFR
@ RAES
OB X

COMGOBERRBOEBER M) 13 o
BITBYDEOETT, 175, HBREBRANTH -
TH, FHERI T OVWTRMGILE 2 THEREET
WEESHELHVET.

BERDORBILREMMITIZ LR DB ER TR
TUETH, S#REERREETH>TH. KIS
DIZBHMNH > - BEIZRAHBEIUMEEICONT I
I TWhWEEET,



OOCE B

LL(G? oY)

NLO' D T A A



R B e ES B s & W M ||Re BwmEBE S I 4
NO | TvM1000 TVM1200 B [|NO| TvM1000 TVM1200 B
1 Z5E 075 006 501 AT 1 || 24 Z5 985M10 F A Fvh:MIL0 15
2 | Z5E 100 002 500 ANV S sk 1 25 Z5 985M20 F A F vk M20 1
Z5E 120 002 500 | 7Rw/R:xo 1 26 Z5 985M14 FAuF vk M14 7
3 Z5E 075 008 006 JARRNTL —h 1 || 27 Z5 985M12 FAarF ki MI2 1
4 Z5E 075 010 040 FHERR 1 |]28 75 985M8 FAmrFohi M8 2
5 Z5E 075 008 005 7L —h 1 |f29 Z5 934M10 Fh:M10 2
6 Z5E 075 008 009 AT J—FL—h 1 || 30 75 125AM14 Dy Ml4 5
7 Z5E 075 008 004 Az 1 || 31 75 125AM12 Dy MI12 1
8 Z5E 075 008 002 ZATART L —h 1 ||32 75 125AM10 Ty MI10 14
9 Z5E 075 008 001 ay—)v 1 33 Z5 9021AM12 Uovv:12 1
10 | Z5E 075 006 502 557 1 || 34 Z5 9021AM10 Tvi 10 10
Z5E 120 006 502 | #Fv 1 [|35 Z5 9021AM8 U933 %:8 2
" Z5E 075 010 029 FANE LY 1 || 36 Z5E 075 010 052 ATY T 1
12 Z5E 075 002 009 G —F A7 HIE 1
13 Z5E 075 010 032 N Y E—F AT 1
14 Z5E 075 002 024 VA=V ASIE IR 1
15 75 933M10X55 ANARLEMI0X55 1
16 Z5 933M20X80 ANARLEM20 X80 1
17 75 933M14X50 NARNLFM14X50 1
18 Z5 933M14X70 NARNLEM1I4XT0 1
19 Z5 933M14X40 NARNLIM14X40 5
20 Z5 933M12X70 NARLFMI2X 70 1
21 Z5 933M10X25 ANARIVEMIL0X 25 12
22 Z5 933M10X30 NARLEMI10X30 2
23 Z5 933M8X60 ANARVE M8 X60 2

|
w
|




IPE-E.C,0N | -4

©®0 OO

©

@ OODWHEBD




R 3 aE S B &AW 8 |[Re B aE S B @R W M
NO | TvM1000 TVM1200 B |[|NO| TvM1000 TVM1200 g
1 Z5E 075 002 502 Oy e g —F A7 | 1 16 Z5 933M10X55 FNHERLR:M10X55 1
2 Z5E 075 010 050 a—R 1 17 Z5 933M20X80 SATRIVE:M20 X 80 1
3 Z5E 075 010 051 NCRT YT 1 [[ 18] 25 933M6x20 RARILE: M6 X 20 12
4 Z5E 075 002 501 AP F—F AT 1 Z5933M6X20 | ANAR/NLI:M6X20 14
5 Z5E 075 010 085 FVCF Ny ey 4 /19 Z5 933M6X16 NARLE M6 X 16 4
6 | Z5E 075 010 035 VINZ 4 2 (120 75 933M8X16 NARNLEM8X16 4
Z5E 120 010 035 | S V4 2 || 21| 25 603miox25 ARV M10 X 25 20
7 Z5E 075 010 090 =N FSINZ 4 4 Z5603M10X25 | FARA/LF:M10X 25 24
8 Z5E 075 003 020 PR—K T —h 4 22 75 603M10X30 AR /LR M10X 30 8
9 Z5E 075 003 021 NS4 8 23 Z5 985M10 FAaF v M10 29
10 | Z5E 075 003 019 T —NE 1 Z5 985M10 FAarFyhiMI10 33
Z5E 120 003 019 | L —h:/E 1 || 24 Z5 985M20 FAaF v M20 1

Z5E 075 003 028 TIL—hg 1
Z5E 120003 028 | L —RA 1 (|25 75 985M8 F A Fvh: M8 4

11 | Z5E 075 003 018 TIN— 2
Z5E 120 003 018 | /83— 2 || 26 75 985M6 FAarFvh: M6 16
12 | Z5E 075 003 501 PEH S —h 1 75 985M6 FAaF b M6 18
Z5E 120 003 501 | HEH& —h: £ 1 27 Z5 125AM6 Dyl % M6 20
Z5E 075 003 502 A — A 1 Z5 125AM6 T/ %:M6 24
Z5E 120 003 502 | HEHA —RM A 1 || 28] 25 9021AM6 T %:6 12
13 Z5E 075 003 503 g— K 1 75 9021AM6 T %:6 14
Z5E 075 003 504 y—h 1 (|29 25 9021aM10 T %10 28
14 Z5E 075 003 011 7 —NTAR 4 75 9021AM10 Tvi%:10 32
15 | Z5E 075 010 044 R—RIFGT BTN 14 [[ 30 Z5E 075 008 012 TYVATayy 1
ZSE 075010 044 | N—RIF T TN 18 || 31 75 933M6X16 NARNLE M6 X 16 1




IPE-EG,0N

HOO® ® OO

ECOCLE




Rt B aES - o ¥ ||RE BaB S WM & B W 3l
NO|  TvM1000 TVM1200 B [[NO] TvM1000 TVM1200 B
1 7Z5E 075 001 009 by FH 1
2 75 985M20X80 AARLR:M20 X 80 3 || 26 Z5E 075 010 041 2B R(H) 1
3 Z5E 075 001 008 by FHL L —h 1 || 27 Z5E 075 001 592 RFRE 1
4 75 985M20 FAarF vk M20 27 || 28 Z5E 075 010 050 ¥I7F4a—R 1
5 Z5E 075 001 514 Ra— S— 5 1
6 Z5 933M20X50 AR M20 X 50 8
7 Z5E 075 001 515 Fo——: 1
8 75 985M20 FAaF vk M20 4 1|32 75 9021AM20 Ty M20 8
33 | Z5E 075 001 500 JbL—UA 1
Z5E 120 001 500 ZL—.A 1
13 75 933M16X40 AARLRM16X 40 8
14 Z5 933M20%40 ARARLE:M20X 40 8
15 Z5E 075 001 591 =2 1
16 Z5 985M16 FAualFvh:M16 1
17 Z5E 075 001 015 TIANTL—h 2
18 75 933M16X160 NARLBF:M16X160 8
19 75 933M16X100 ANARLR:M16 X 100 8
20 Z5E 075 001 520 Ux— =75k 4
21 Z5 T991M20X70 A AT MEEAR AR M20X70 | 8
22 Z5E 075 010 081 Ux—sR— 4




)P)E.E.G.OW, _g -




R B aE S M m B W ¥ ||ReE BaE S B & & W il

NO |  TvM1000 TVM1200 g [|NO| TvM1000 TVM1200 g
1 Z5E 075 010 302 Se—RAMEIEA a1
75 933M8X60 =RV M8 X 60 1
2 Z5 933M10X80 AR M10X 80 4
3 Z5E 075 010 030 YN 1
4 Z5E 075 002 542 PICH /S — 1
5 Z5 125AM10 T % : M10 4
6 75 985M10 T 10 4
7 Z5E 075 010 021 %7k 1
8 Z5E 075 010 031 2= N—=F A Pa b 2
9 Z5 933M8X50 AR M8BX50 1
10 Z5 125AM8 Tv iy M8 1
11 Z5 985M8 FAarF vk M8 1




NLO' DA A A

_OI_



Rl T aES T R # ||RE B aES T %

NO1  TvM1000 TVM1200 B [|NO]| TvM1000 TVM1200 2
1 75 7991M16 X 40 AN FATILEERA R M16X40| 12
2 Z5E 075 004 025 FA7: K 4
3 Z5 603M10X25 AR MLFER VR M10 X 25 4
4 Z5E 075 004 027 IR —b 4
5 Z5 98b6M16 A F vk M16 24
6 75 985M10 F AT v MI10 4
7 | Z5E 075 004 501 VXV I AT 2— 1
Z5E 120 004 501 | Ty I AT 20— 1
8 | 75 603M12X30 AR MLIARALF:M12X30 | 22
Z5 603M12X30 | AIRMEEARNL R MI12X30 | 34
9 | Z5E 075 004 026 F AT /)N 11
Z5E 075 004 026 | F~A7 /)5 17
10 Z5 985M12 T A FyhiMI12 22
Z5 985M12 FTAaFyhMI2 34
11 Z5E 075 004 007 FAQT AR 1
12 Z5E 075 004 502 Xy 1
13 Z5E 075 004 009 AFGART v a 2
14 Z5E 120 004 003 ¥ 7k 1
15 Z5 933M14X140 AR M14X 140 12
16 Z5E 075 010 018 B XY 1 1=22 1
17 Z5 985M14 FAa Ty M14 12

18 Z5E 075 004 503 FATZIART L ay AT av

|HH|




IPIE-EGON

- 12 -

W )
iz

%
{0\4




B 0B 5 &5 B & A #||RE H a85 B & A #
NO | TvM1000 TVM1200 g ||NO| TvM1000 TVM1200 g
5 Z5E 075 010 006 Fro S 2
6 | z5E 075 010 009 HA¥:27X10-12PR 2
Z5E 075 010 007 | #-1-¥:7.00-12-14PR 4
7 | z5E 075 010 015 Fa—7:27X 10 2
Z5E 075010013 | F=2—7:7.00-12 4
8 | z5E 120 010 010 J:8.00-12 2
Z5E 120 010 010 | V.:6.00-14 4
9 Z5E 075 010 039 AA—F bk 18X1.5 12
10 | Z5E 120 001 001 TIAZIV 70X T0 1
Z5E 120 001 001 | 7 27&/1:90 X 90 1

|HW|




IPEE.C,ON -4




R B a8 &5 T v || 0 aES B & B ¥ #

NO TVM1000 TVM1200 -1 NO TVM1000 TVM1200 B

1 | Z5E 075 010 140 HIED—X:4800 2 K Z5E 075 010 127 90° T/LAN:12 1
Z5E 120 010 140 | JHEDR—X:5800 2
2 | Z5E 075 010 141 HEDR—X:6800 2
Z5E 120 010 141 | JHEFR—X:6800 2
4 | 75E 075 010 144 LR —X:3500 2
Z5E 120 010 144 | HEA—Z:3500 2
5 Z5E 075 010 101 HEAR—2X:1300 2
6 Z5E 075 010 119 Ty —f— 1
7 Z5E 075 010 160 NVTTayl 1
8 Z5E 075 010 108 7)) — R7R—R:2500 3
9 Z5E 075 010 109 HIER—R:2500X1/4 1
A Z5E 075 010 114 =7 :3/8-M12 12
B Z5E 075 010 113 BT (FR):1/2 2
C Z5E 075 010 126 AVTE:3/4 2
D Z5E 075 010 118 eI Ah=y N 3/8-1/41L 1
E Z5E 075 010 125 = 7N:1/4-3/8 1
F Z5E 075 010 120 TIVAR= T :1/8 3
G Z5E 075 010 121 = 7FN:1/8-6 4
H Z5E 075 010 122 90° xT/L7AR:1/8-6 2
| Z5E 075 010 123 H— I 1
Z5E 075 010 124 =7 :1/4 1

|
—
o1
|




m. mv
REEEICIGINY

Super gear
fluid 220

4
)

Ao

uCATORENOR

—




R B e EE B & & W M ||Re Bawm B S B &AW L
NO|  TVvM1000 TVM1200 B |[NO| TvMi000 TVM1200 )1
1 Z5E ST 000 025 TV AEEER 1

2 Z5E ST 000 017 F~Yb:Biga(47) 1

3 Z5E ST 000 029 7L :Biga(%) 1

4 Z5E ST 000 019 Z~V :Biga (/) 1

5 Z5E ST 000 016 7~V PEECON 2

6 Z5E ST 000 018 FX)V L AT ) a— 3

7 Z5E ST 000 004 FYL T — R 1

8 Z5E ST 000 027 TV LN —HE 1

9 Z5E ST 000 003 TGV FANG T 1

10 Z5E ST 000 020 7~ :maxi 3

11 Z5E ST 000 030 T~ eco 3

12 Z5E ST 000 024 F~L s twin 3

14 | 75E ST 000 032 S~V 10m® 2

15 Z5E ST 000011 | S~L:12m3 2

18 Z5E ST 000 007 TGV FAY 2

19 Z5E ST 000 033 TV —h 2

21 Z5E ST 000 035 SV — N E 2

|H‘N|




FHE | S-0103158B

V. N ft 066-8555 FETLER# 106 1FH2
TEL 0123—26—1123
FAX 0123—26—2412
F R EEFT 0668555 TFEMLEZ1061%MH2
TEL 0123—22—51
FAX 0123—26—20
7B )il B £ AT 070-8004 BJITHMEAZLOTHIEZE3I5E
TEL 0166—61—6131
FAX 0166—62—8985
098-4100 XIEHMEEEIFLHORY 119 15
TEL 0162—82—1932
FAX 0162—82—1696
B L E ERT 080-2462 ®ELEmE22%d1TH1 25
TEL 0155—37—3080
FAX 0155—37—5187
hiEEEEPT 086-1152 iZE£HPIEEATIT2 TE 1652
TEL 01537—2—2624
FAX 01537—3—2540
&= EMR 025-0312 AFEEET-KBE=MHE333—1
TEL 0198—26—5741
FAX 0198—26—5746
HEEHER 0200178 EFEEFHERMERFRERS552—3
TEL 019—694—1661
FAX 019—964—1662
il & B E£ Fr 9850845 EHELEWTEAM2TE4AE272
TEL 022—367—4573
FAX 022—367—4846
Ao B E AT 323-0158  HFAE/NUTR2512— 1
TEL 0285—49—1500
FAX 0285—49—-—1560
ZEEEXFT 480-0102 ZBHMEAPRKENAEZSHFTEEES19 1
TEL 0587 —93—6888
FAX 0587—93—5416
[ & 2% Fr  700-0973 RELEMBLHTTFHEF704—103
TEL 086—243—1147
FAX 086—243—12609
ABE A B XFr 862-0039 HRAERATREM1TE2F1S
TEL 096—381—7222
FAX 096—384—3525
W E X BT 885-0004 EIZEHMMTHEILATIIS 3 7 —1
TEL 0986 — 1045
FAX 0986 — 4644

31
35

HE:
Ho
113
e
g_{

38—
38—

#.13.03.15 (B)



